
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by powers of ten

10.767 × 1000000 = ________ 3.132 × 1000000 = ________

3.176 × 100000 = ________ 3.086 × 1000000 = ________

4.556 × 10 = ________ 3.276 × 1000 = ________

9.487 × 1000000 = ________ 6.042 × 1000000 = ________

10.035 × 10000 = ________ 10.042 × 10000 = ________

10.152 × 1000000 = ________ 9.94 × 100000 = ________

8.209 × 100000 = ________ 8.465 × 10 = ________

10.731 × 100 = ________ 7.227 × 1000000 = ________

9.58 × 100000 = ________ 8.263 × 1000 = ________

6.178 × 100000 = ________ 4.878 × 10 = ________

www.snowmath.com

https://www.snowmath.com


Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by powers of ten

10.767 × 1000000 = 10767000 3.132 × 1000000 = 3132000

3.176 × 100000 = 317600 3.086 × 1000000 = 3086000

4.556 × 10 = 45.56 3.276 × 1000 = 3276

9.487 × 1000000 = 9487000 6.042 × 1000000 = 6042000

10.035 × 10000 = 100350 10.042 × 10000 = 100420

10.152 × 1000000 = 10152000 9.94 × 100000 = 994000

8.209 × 100000 = 820900 8.465 × 10 = 84.65

10.731 × 100 = 1073.1 7.227 × 1000000 = 7227000

9.58 × 100000 = 958000 8.263 × 1000 = 8263

6.178 × 100000 = 617800 4.878 × 10 = 48.78
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